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B.Sc. (Part-I) Examination, 2019
PHYSICS

R | : Paper : TIT

Circuit Fundamentals & Basic Electronics

Booklet Code

Time : Two Hours | o ) [ Maximum Marks : 50

Important Note : Please read instructions carefully printed on the back of OMR sheet.
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'Note : Attempt all Questions. Each e : el yem sifad & 50T W & 3
question carries equal marks. T g | | ‘
1. Inhalf wave rectifier if the inputfre- - 1. 3 feeart § afk Faeh amghi 50 Hz
‘quency is 50 Hz then output fre- 2 o Fofa amgfa & 9= 8m
quency will be: o | | (A) 100Hz .
AA) 100Hz | _ (B) 60Hz |
: (B) 60Hz | (C) 50Hz
(C) 50Hz
oy 25Hz B .(D) 25Hz
/\/{ The dimensions of RC s 2. RCar famr -
. (A) Time S - (A) W
(B) Inverse time__ | (B) W a1 sgwm o
 (C) Square of time iC) S——
(D) None of these (0) T A B Y

" m
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The material used to coat inside of

CRT is:
(A) Germanium

(B) Carbon

- (C) Phosphor

(D) All above

A p-n junction has a thickness of

the order of:
(A) 1cm
(B) 10cm
(C) 10°% cm
(D) 107*%cm
Coupling capacitors mainly affect:
(A) Upper cﬁt-off frequency

(B) Lower cut-off frequency

.(C) Both (A) and (B)

/(D) None of these

The voltage gain of a common base

amplifier depends upon:

- (A) " Load resistance R

(B) Input resistance of transistor
(C) A.Calpha

(D) All the above

Qs
T RN MESEUMEIKCEE

3..

6.

CRT % U & fore wges waref @

(A) Fifay

(B) &&=

(C) B

(D) 3RS R

0F p-n FawA $! ARE o 3 LAl
g

(A) 1cm

(B) 10cm

(C) 10°® cm

(D) 10 ?cm

Fuferm WenRa Y ®U F yuifdd axar
&

(A) IR 3iad gl

(B) f= 3w smgfar
(C) (A) 3R (B) 2=

V(D) 7 & B3 T

U3 WIS IMUR a1 qad® & fava
frRk aar &

(A) s wiekiE R W .
(B) giforex & e ofeka ®
(C) A.C 3 W
(D) IRIE I W
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Ay A C.R.O. is used to measured-

(A) Voltage
(B) Frequency
(C) Phase

-+ (D) All of the above

\yln a common base amplifier, a

smaller load resistance will pro-
duce:

(A) High voltage gain

(B) High current gain

(C) Low power gain

(D) None of these

9. Which rectifier requires two diodes
(A) Half wave rectifier
l/QB) Full wave rectifier
. (C) Bridge type rectifier
(D) None of these
10. Wattless currént means-
(A) Currentis zero.
/ (B) The average power consumed
ina cyclé is zero.
.(C) E.m.f. is zero.

(D) The phase difference between

current and potential is zero.
292/

A RIHECTEMITEY

\y- & IR (C.R.O.) W ¥ §geb

&
. (A) AR

(B) 3mgf

(C) =
(D) IRrH T

8. U INUMS IR YaHd § H9 q A
s gferry 3= Hm

(A) 3= fava amv
(B) 3= IRT @Y
(C) &9 9t &ATY

(D) 39w & ¥ B 6
9. fovu feeard & @ srasw smawas B
&2
(A) Frgam e
(B) gof &< Ry
(C) I voR feeary
(D) 5% & 18 =
10. aedN ary & 3ref 2-
(A) &RT & 74 3= A
(B) wRux & yds u ¥ atwa e
B 7 I @
(©) R.aveat &1 w2
(D) uRer ¥ urr 3R e F ser
B

P.T.O.
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{1// A ballistic galvanometer measures:
(A) Current
+ (B) Charge
(C) Voltage
(D) Resistance
12. Maxwell's bridge is used to deter-
mine:
- (A) Inductance
(B) Capacitance
(C) Both
(D) None

13. Time pericd of LC circuit is:
1
(A) Q—&-JE
/(BY 2xJLC

(C) Jic
(D) None of these

14. Which graph show steady current?

(A T
L ——
t—
(B) |
t—
(C) 'I\
t—

§. CID)Naneiof these
O\ IA RTME SFEVENICETE
268 /R :

(A) @RI

(B) 3may

(C) fawa r

(D) gfery

Havrde A &1 g B @ I B &
ar &-

(A) e

(B) TRz

(C) asi

(D) &% T |
13. LC wRuy &7 3nadaa & :

(A) 5-IC

(B) 2x4lC
(©) Vic
(D) W ¥ 3 T |
14, 3 W s fem arr &1 Zefn @2

VA

YRR A

——
t —

A

() | i

L t

() '\
—

t—

(D) & A g
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15. The equation of discharging of the

15. IRaxa ¥ GuilRa & 339 o1 T BT
capacitor through an inductance is: 2
(A) q=qg,sinut (A) q=qysinet
(B) q=asinwt (B) q=asinnt .

(C) 9 =q,cosmt
(D) q=-q,sinwt

10
16. A —n*uf capacitor is discharged

4 _
through a %mH inductor, value

of frequency Jf discharge will be:
(A) 100c/sec
(B) 300c¢/sec
(C) 500c/sec
(D) 10c/sec

circuit is equal to:

16.

(C) q=qgycosmt

(D) gq=-q,sinot

v %uf &1 FaRA li—OmH & IR
R} et Aar &1 st smgf &1 7
grm : http://www.rmlauonline.com
(A) IOOﬁfsec

(B) 300c¢/sec

(C) 500c/sec

(D) 10c/sec

17~ The element of transmitter is: 17. M FI3TTE B :
(A) Microphone (A) FEBEE )
(B) Oscillator (8) Qe
(C) Modulator (C) HigereR
. (D) All above (D) IS T
\/14 ‘The natural frequency of a L-C 18. L-C qRuy & w@vias® mﬁ* 2.

1
1 (A) -_EJE
(A) -Z—HJLE
| 1
! (8)
' 2nJLC 2nLC
(B) 2nLC n
1 JL
1 /L o Lt
© 2n\VC () 2r VC
1 [C 1 E
O T (D) 5-\F
q.; ::{:!."?;U'iﬁ."!_}lif?i'_'. 3
T*“hs lﬁ:"“;;li‘ “i :il“ll 4. ' 5] P.T.0.
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In L-R circuit the equation of the

growth of current is:

R

‘-Rt
(B) 1 = Ige L
(C) I=1Sinwt
(D) None of these

If the value of voltage amplification

factor is 50 then the value of feed-

back factor will be:

(A) 1.00

{B) 50.0

(C) 0.02

(D) 1.02
. A multimeter can measure:
(A) Voltage

(B) Resistance

(C) Current

- (D) Allabove

[

. Electromagnetic waves are:

(A) Longitudinal
“(B) Transverse

(C) Both (A) and (B)

(D) None of these
REEIMINCEEREE

-I“-Ir- F it (3
ANIMES EUMEIRELE

19. L-R uRuy # ey gfz a1 wefasor &

20.

21.

A) [ p-etly

-P
(B) 1-1et’

(C) 1=1,Sinmt

(D) T T

afe fava yadasrt oe @1 W 50 &
at wisds ToE B I &

(A) 1.00

(B) 50.0

(C) 0.02

(D) 1.02

U% AeEIMIeX §19 Tebel @ -
(A) fawa

(B) wikRE

(C) &rr

(D) 3IRIP |

22. dgagEd a1 &

(A) 3R

(B) 3y
(C) (A) 3R (B) aF

(D) &8 | B1F g

http://www.rmlauonline.com
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\4 The gain of amplifier with positive

23, uFE Bieds A gadie o1 v A 8

feedback is: '

A
. A =
(A) 2 =TT0A

A
A=
(B) 1+ BA

3
(©) A':i}!m
(D) None of these
. 247 The process of feeding a fraction
_of output energy back to the input
is known as:
(A) Amplification
(B) Rectification
- (C) Feedback
(D) None of these
‘/5. Positive feedback always used in:

(A) Oscillators

wod auIjuoneju mmm//:dny

(B) Amplifiers
(C) Rectifiers -
. {D) All above
mech one is conductor?
(A) Ge
() S
*(C) Cu
(D) Paper

%_1 iR ELIMITNCEERSE
NS L A S BRI (7]

24,

25.

26.

A
(A) Ar=iia v

A
A, =t
(B) 271 pA

B

(C) Ar “14pA

(D) ¥ & P15 T

frfa F3t & o6 s & @3 AR @
B ik dEendr @

(A) Wt

(B) feeaon

(C) wzds .

(D) ¥ & B T

YIRS BEdd wad wam A 2
(A) Afe

(B) Wad® H

(C) Reward

(D) s R § N

= A e A @?

(A) Ge

(B) Si

€) cu \

(D) AR

P.T.O.
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7. The electrons in the outermost or-
' 27. Hq A @en $ o dee &

bit are called:
- (A) Valence electrons (A) dr sﬁai;fh L
(B) Conduction electrons (B) oe® oo
(C) Both (A) and (B) (C) (A) iR (B) ari
(D) None of these (D) 3 ¥ B3 &l
28. Zener diode is always used- 28. IR I@AE T Sgeh Bar &
- (A) Inforward bias (A) R &
\/(B) In reverse bias (B) qea s § V-

(C) As a rectifier
(D) Asafilter

(C) ™ ket & g &
(D) ™ BRI & ¥4 §

29. B9 9 U% TuiRF QY & B

29. Which graph show discharge of

=
S
]
itor?
> capacitor? 3
-t 4+ P
= A). | I
rg:‘ 1 b A to
g - (B) R \ (B) E \
S L >~ 5
= T e | . -
S ,r
() - ©
" " 4
R FEp
(D) None of these (D) T A P &
\/30. Maxwell's bridge is used: ~ 30. A .\q§ &1 wan fear s 3

(A) To determine R (A) R 3T o< §

(B) To determine C (B) C 3 oy &

"(C) To determine unknown L (C) 9= L §1d & A o

| (D) IRE TN

Qe HRhRRove,

T RHNESERRUKER 8]

[
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%The number of diodes used in a 31. fae Reard & Wy swiEl B @@

bridge rectifier are- 2 2-
©(A) 2 (A) @ \/
(B) 1 . (B) &
(C) 3 (C) &=
(D) 4 | (D) TR
‘*{Schering bridge is used: 32. i g wam fesar s @
(A) Todetermine resistance (A) wieRy srd & A
- (B) To determine capacitance B) uRaTs@ad |~
(C) To determine Inductance (C) RPHed 3T FA H
(D) To determine voltage (D) fawa s A &
33~ The average power dissipation in 33. 95 R H 3ia T3t aa @
pure inductance is: (A) 1.,
(A) %Liz o ;
(B) L2
. (C) Zero (C) @
(D) 2Li? (D) 2Li?
34. Germaniumis a: 34. sRAFEW o @
. (A) Conductor (A) wes
(B) Insulator . (B) Hureis
\.(()‘Semiconductor (C) rgwamersd |~
(D) Ali above (D) 3Wres
(_36. =a-section filter consist of: 35. n-Jaaq ey § aar &-
(A) Capacitor only (A) ¥ad Wi
(B) Inductoronly (B) e @5‘73?““ \
- (C) Capacitor and Inductor )
Qe 42)oes e avove - () A v g o L
L\ R, (D) &1 X B 7@

L R RN ECEPPTR (9]
P.T.O.
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36. The number of depletion layers in a

Transistor is
(A) Four
(B) One
(C) Three
- (D) Two
37. In a common-base transistor cir-
cuit Ic=;.98mA and I;=0.02mA,
Find the current gain «:
(A) 1.00
(8) 0.90
C) 0.99
(D) 2.00
38. The process of changing a.c. signal
into d.c one, is called:
(A) Biasing
L{B) Rectification
-(C) Modulation
(D) Amplification
39. Diode, fundamentally is a:
(A) Power controlled device
. (B) Voltage controlled device
(C) Resistance controlled device
L/CD) Current controlled device
40. Depletion region is the zone which
contains:
. (A) Holes
\AB) Free electrons
(C) Neither holes nor electrons
(D) None of these

C&zsﬁﬁﬂﬂiil otz
o\ TIRA e S EEEICER

36. FIFFoTRR % smarg of & den B 2

38.

39.

40.

(A) TR
(B) U
(C) dF
(p) & |/

. 0% YD IR o aRae &

afd I,=1.98mA @1 1,=0.02mA @
¢RT &Y o 519 STl

(A) 1.00

(B) 0.90

(C) 0.99 !

(D) 2.00

U a.c Hbad @ d.c Tbad ¥ gae
& uftsar & FEa 8-

(A) FfFa

(B) fieeawor \_/

(C) wged

(D) wads
IS, Hered A 8 U ¢

(A) ot Fraas gie

(B) favwa Pz gie

(C) iy frims s

(D) o FrTs s 7
AT IR 98 &7 &, ol 8 &
(A) BRI

(B) @7 3o v

(C) = & #ex 3Rk 7 & o=

(D) ¥ & P e

http://www.rmlauonline.com
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In a transistor circuit, the emitter
current is 1,0 mA and collector cur-

rent is 0.9 mA, then base current
will be-

W(A) 0.1mA
\/(B) 0.9mA

. (C) 1.0mA

- (D) 1.9mA

A

Thevenin's equivalent circuit con-
tains:

- (A) E'in series with Z'

43.

(B) E'in parallel with 2’

(C) I'in parallel with Z'

(D) None of these

The most commonly used transis-

tor configuration is-

L4A) C.E .

5
B

45.

(B) C.B
(C) C.C
(D) None of the above

. The band width in AM wave is:

(A) 2f,

(B8) l’c+f5

(C) f.-f,

- (D) 2f,

Radio transmitters are classified
into:

(A) Amplitude modulation

A_A4B) Frequency modulation

(C) Phase modulation

C&(m CLE BT E BN
o,

268 /R

AR MESETMITKEIN

41. vP g aRuy # ot IRTES URT
1.0 mA 3R Fues 4T 0.9 mA 2, a
MR &RT &N
(A) 0.1mA
(B) 0.9mA L~
(C) 1.0mA
(D) 1.9mA

42. daFe & waqra oy ¥ dar 2
(A) oisa A S E'anz 7
(B) W 8 § 32 E' 1 2
(C) mmamﬁsﬁrmz"

(D) 7 & B T

43. T E T 8 AT GiforeR =

E(‘}.«'-s.) CE

(8) C.B
(C) C.C

(D) A B &
44. AM @0 ¥ dug disE A
v(A) 2f, 7
(B) f +f,
(C) f-f,
(D) 2f,
45, s wRs Tifiga fvar man @
(A) 3mam Hige ¥
(B) smgfa dgemr &
(C) ®en Aige A
(D) IR WY

P.T.O.
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When a tri-valent impurity atom is
added to silicon:
‘(A) P-type semiconductor formed
(B) No covalent bond formed
(C) N-type semiconductor formed

(D) The material is negative

. The energy band gap is maximum

in;

(A) Metals

(B) Superconductors
- (C)
(D) Semiconductor

Insulators

A CRO is used to measure:
(A) Voltage

(B)
(C) Frequency
(D) AII above

Current

49. Hartley oscillator is used in:

A

\/(ﬁ) Radio receivers

(B) Feedback circuits

-(C) Amplifier circuits

(D) None of these

A microphone is a device which
converts:

- (A) Sound waves into electrical
waves

(B) Electrical waves into sound
waves

(C) Sound waves into microwaves

340y cliaa of these
I 1

268 /R

(12)

46. e § v Br-<aeh argfy P

47,

48.

49,

50.

S &

(A) P-WibR & FLATD ael & |
(B) @ TR HATD T T avan & -
(C) N-SER B FGaTd aden &
(D) werd OIS B 2

dug F1t e HidTH e &

(A) urgsit &

(B) et A

(C) pum@ ¥ -

(D) HZaTS A

vd CRO frad waF F 9 &l 8
(A) fowa &

(B) &R &

(C) 3mgfa &

(D) IRIH T/

gt e &1 Igan e S @

(A) e s A
(B) wrd® wRuy 3
(C) wads ofigey &
(D) 31 | IF &
A IR Gfes & 5N agod & -

A_~
—

(A) @y wnl @ Ry it 4 L
(B) forpa et o eefy it &
(C) eafy v oy srgepy vty &

(D) & & o 5

http://www.rmlauonline.com
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Zener diode is commonly operated

in:

, [A) Reverse bias
. (B) Forward bias

)

Y

!

55.

o

(C) Without bias

(D) All above

The ripple factor for a full wave rec-
tifier is:

(A) 1.21

(B) 0.84

(C) 0.48

(D) 0.25

. Symbol of Zener diode is:

() ° =

(8) —{=—o

(D) None of these
Element of power supply is:
(A) Transformer
(B) Rectifier
(C) Filter circuit

. (D) All above
The output voltage in a bridge rec-
tifier is:

. (A) Sine wave

\jé) Half wave signal
(C) Full wave signal
fr_'n_}['-l;l)th“m) and (B)

eI

e AP E S ER R R EIE

51. FR G GHRGG: BT ST &

53.

54.

55.

[13]

(A) Jom sl d L
(8) 3m fiEfy
(C) fomn sfdmfa &
(D) JWH W A

&

(A) 1.21
(B) 0.84
(C) 0.48 -

(D) 0.25
IR IS & Thd &

A R & Prfa s g &
(A) a1 &=

(B) sg-am Rrwa

(C) pi-arm R

(D) (A) 3R (B) 2@t

P.T.O.
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56. An advantage of a transistor is:
\/('A) Low cost
(B) Long life
(C) Small size
(D) All above
57.. Which step of a d.c. power supply
uses L and C?
(A) Rectifier
-(B) Filter
\AC) Transformer
(D) Regulator
\J58. The maximum efficiency of a full
wave rectifier is-
. (A) 81.2%
(B) 40.6%
(C) 30.0%
(D) 20.0%
59, Symbol of PNP transistor is:

(D) None of these
& S
EN FTANIMESHEMUICET

0

56. U GI-51%e o1 oy &

57.

58.

59.

(A) ®H g & ROT
(B) @Y 3g & BRYT
(C) B BR & BRI
(D) IR Tt
e ofts TRy &) Bl @ sERT H L
3R C &1 wam fear s &2
(A) et
(B) fpeex
(C) ek L/
(D) Fraas
gof o= et #Y siftrean zarar gt
g-
(A) 81.2% '~
(B) 40.6%
(C) 30.0%
(D) 20.0%
PNP Zifoex &1 ddba &
E

C
(A) @'

|

(B)

(c) _E c

2

(D) &1 @ 21§ 7@

http://www.rmlauonline.com
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Symbol ~ denoted:
(A) D.C.signal
(B) A.C.signal

+ (C) Both (A) and (B)

(D) None of these

61. Relation between current gain «
and B is:
(A) a=p(1-a)
. (B) a=p(1+a)
(C) B=a
(D) a=p-+1
62. How many diodes are used in a
bridge rectifier?
(A) 1 (B) 2 .
LAC) 4 (D) 3
63. The value of I4 in half wave recti-

fieris:

ﬂ)‘lf

Ve

- (C©) 2n

(8) i,
Io

© 3

r-section filter consists:

(A) An inductance

(B) Alcapacitor

. (C) Both (A) and (B)
D) None of the above

Qé' "54.“14?1“"..!,‘ BT
g ;:l{” MESEEMEIKER

60.

61.

62.

63.

LAA) o

[15]

Hha ~ garfen @

(A) D.C. ¥

(8) A.C. @

(C) (A) 3R (B) 2

(D) & d &1 &
WW&WB%&HW#
(A)
(B)
(C)

(D)
fas feear) & foam e wamT 8@
£?

(A) 1 (B) 2

(€ (D) 3

>

S{ﬁmﬁlucﬁmmg

a=p(1-a)
a=p(1+u)
B=u

a=p%+I

(8) T

(©)

(D) 2

n-Qae e A gren &
(A) »adt IRFA

(B) Haer wuiRa

(C) (IR (B) A
(D) IRIes § ¥ B A&

P.T.O.
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ﬁ The number of depletion layers in a

66.

o~

o)
o

69.
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transistor are:
(A) 4
(8) 1

(C) 2

(D) Zero

Which one is small in size in tran-
sistor?

(A) Collector

(B) Base

*(C) Emitter

(D) None of these

. The energy gap in pure germanium

is:

- (A) 0.3 eV

(B) 3ev
(C) 30 ev
(D) None of these

. In a transistor circuit, the emitter

current is 2mA and collector cur-
rent is 1.8mA, the base current will
be:

(A) 0.1mA

(B) 1.8mA

(C) 0.2mA
(D) 2mA

The most commonly used transis-

tor configuration is:

A(A) Common emitter

*(B) Common base
(C) Common coliector

(D) None of the above

268 /R
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65. glioreex ¥ 3rerd o 3 < v &

66.

67.

68.

69.

(A) 4
(B) 1

—(C) 2

(D) ¥
Wﬁﬁhmﬂmeﬁam
g2

(A) HaED

(B) IR

(C) 35T

(D) &% A & &

vifs Frifam § afsfa 3o & -

(A) 0.3ev ' —

(B) 3eVv

(C) 30 ev

(D) 57 A 313 &

0 gif-orex # 3t 3msiss et 2mA &
T HUES ORT 1.8mA & ar 3R
ORI &1 A= 2nm-

(A) 0.1mA

(B) 1.8mA

(C) 0.2mA

(D) 2mA
mmﬁmmmﬁmﬁm
2. :
(A) Iwafs saasis 7
(B) Iwafrs smur

(C) 3Ivafrs dues

(D) IR A A B T8

R MILTE

&L
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70. Radio frequency waves are used as

71.

v

73.

\/?Bj éub

. (A) B=

carrier waves because they:
(A) Travel faster

. (B) Need small transmitting anten-

nas

(C) Can contain more power

(D) None of these
The value of feedback fraction in

Hartley Oscillator is:

_L
(B) p= L1

1

(C) B;Eﬂ-_z

(D) None of above

. In a common-emitter amplifier the

phase difference between the input
signal voltage and the output volt-
age is

(A) 360

(B) 0°

(C) 90°

. (D) 180°

In common emitter amplifier, the
current gain p is:

Al

(A AL

Al

al,
(€) AL

(D) None of these

268 /R

70. 3N ghy a1 v e e A

71. edar e & dieds wm & 7= B &

72.

73.

@z fbar s & it
(A) g | gady &

8) B IR oo & smavasar

gl 8

() 3 s e &

(D) W A P

L
A P=i

L,

(B) B:L_l

1
© P

(D) = ¥ BS &

TSI yadd #, Feh dan
faer 3 fofa Qeear @ & daR
g &

(A) 360°

(B) 0°

(C) 90°

(D) 180° L —

IS - 3051 Taeie 3 emRr 7y p T

= g

Al
(A) 1,

Al
(B a1, L~

L,
Al

(D) I % ¥ e

(C)

T
P.T.O.
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The transistor parameters a and B

are related as-

-._.__1_
(D) P 1-a

75. 1If the value of p of a transistor is

48 then the value of u will be:
(A) 1.00

(B) 0.97

(C) 1.97
. (D) 0.48

\_}6. In zener diode, current flows due to:

(A)
(B)
(C)
(D)

Majority carriers
Minority carriers
Both (A) and (B)
None of these

\77. The drift velocity of holes is:

78.

(A) Greater than electrons
. (B) Less than electrons
(C) Greater than ions
(D) Less than protons
If L,= 1000uH and L,=100 uH, then
find the value of feedback fraction:
(A) 1.0
(8) 0.1
(C) 10
(D) 100

268 /R
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74, §ﬁ%ﬂz{ﬁ“ﬁkq‘lﬁhliﬁ*m%¥mmu

75. afe v gif-aex & fow p ST A 48 2 A

76.

77.

78.

2
a=P-1
(&) ="
(8) p-12¢
(43
__*
4(.9) F!_l—c.lt
1
(D) ﬁ;lﬁu

o @1 A 8

(A) 1.00

(B) 0.97

(C) 1.97

(D) 0.48

3R 3t § a1 b RO e &
(A) TEHED TEH! GRI

(B) IHED TEDH GRI

(C) (A) 3R (B) A
D) 7 A % F&

B BT I AN &

(A) goagH A A

(B) soaH & &H

(C) 3ImgA ¥ 3=

(D) WgH ¥ &1

afE L= 10004H and L,=100 yH, A
WISdd W B 7 T BT

(A} 1.0

(B) 0.1

(C) 10

(D) 100
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/}9. Frequency range of microwave os-
cillator is:
. (A) 3x10°Hz - Several GHz
(B) 1x10%Hz - 1x105Hz
(C) 1x10%Hz - 1x107Hz
(D) None of these
g0,/Device that converts d.c signal into
a.c. signal:
(A) Amplifier
(B) Capacitor
(C) Rectifier
(D) Oscillator
81. The frequency of Hartley oscillétor
is given by-
1
(A) 2nJ[1C
1
"(B) 2n 4L, +2MIC
1
(C}. 27dMC
1
s, o ommr o
2

. An oscillator converts-

_ (A) D.C.into A.C.
(B) A.C.into D.C. "
(C) High to low voltage
(D) None of these

\/83. Frequency range of audio frequency

oscillator is:

"« (A) 20Hz-20,000Hz
(B) 20Hz-40Hz
(C) 80Hz-1000Hz

- (D) None of these
268 /R

79. @ gk afte @ oy T &

80.

81.

(A) 3x10°Hz - ®§ GHz L~
(B) 1x103Hz - 1x10°Hz
(C) 1x10°Hz - 1x107Hz

(D) 3 A BI§ el

ag gfts 3 d.c W& B a.c Hbd A

gaedr &

(A) vt

(B) ez

(C) Rear

(D) @fem

gea Aferm A sgha axdr -

1

(A) 2mfiC

1
(B) 2z, +L,+2M)C

1
() mC

1
® 2L

yzaﬁ%auﬁaﬁamé-

83,

! _—

(A) D.C.@IA.C. ¥
(B) A.C.®D.C. o
(C) 3= fava & fet Ry o

(D) &% A B =

sifclt arfe fers A amafer aere 2.
(A) 20Hz-20,000Hz
(B) 20Hz-40Hz

|

(C) 80Hz-1000Hz

(D) 5™ ¥ o 58

P.T.O.
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\A«%. Barkhaunsen criteria for sustained 84. Wmﬁﬁ?‘i%%vmqm%ﬁm

oscillations is: ‘ 3

. (A) Ap=1 (A) AB=1 .~
(B) Ap=-1 (B) Ap=-1
(D) Ap>1 (D) Ap>1

85. Negative feedback in an amplifier: 85. & ot ¥ HUNHG Bizds

wod auIjuoneju mmm//:dny

" (A) Decreases the gain

(B) Increases the gain

(C) Stablizes the gain

86.

_(D) None of the above
The mass of an electron is:
(A) 9.1x1073g

-(B) 9.1x10°%’Kg

(©) 9.1x107Kg

87

v

fﬂ.

(D) None of these
In pure semiconductor Fermi level
lies:

-(A) In between VB and CB

(B) Closed to VB

(C) Closed to CB

(D) None of these

The output voltage of a single stage
CE amplifier is

(A) Amplified

-(B) 180° out of phase with input
(C) Inverted

(D) All above

268 /R

86.

87.

88.

[20]

(A) @Y P BT B &

(B) @ & gl a1 &

(C) oy @ Frmg g & V7
(D) 3 q I T

UF AT B FHH 8

(A) 9.1x1073g

(B) 9.1x10?7Kg

(C) 9.1x1073'Kg

(D) & & BIg 7

g Hgaes § Bl R ur S
g

(A) VB3R CB & da
(B) VB & U

(C) CB& ure

(8) Fraeh & wmar 1800 Pemee #
(C) Iosftm
(D) IR mi
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The resistivity of pure Si is:
(A) Higher than pure Ge

(B) Same as Ge

+/ (C) Much higher than pure Ge

\/Jo.

wod duIjuoneju mmm//:dny

92.

=0
(©) D=7

(D) None of these

The maximum efficiency of full wave
rectifier is:

(A) 40%

(B) 40.6%

. (C) 81.2%

(D) 50%

'-/Qf A ballistic galvanometer is used to

measure-

(A) Current

(B) Capacitance

.(C) Charge

(D) Potential difference

The peak current for a rectifier is:
(A) If%

Eo
rn+R,

8) b=

E

I d__E.Q_
” (D) o—l"f -RL

268 /R

89. Y& Si @ aferrerdsar e &

90.

91.

92.

(A) ¥Z Ge ¥ 3fts

(B) Ge & IR

(C) @Ge%agﬁm/l
(D) ¥ J B TR

qof a¥n et @t siftream zerar

g

(A) 40%

(B) 40.6%

(C) 81.2%

(D) 50%

dofes Heanier & wan fed o
& foe & @

(A) &I

(B) enRRan

(C) smawr

(D) fawarrR

B et & e ary & Jow WA &

E
I, =0
(A) o R,

E
Ip=—2
(B) %o +R,

E
I =20
(©) L=

E
I, =—0
(D) % e =R

plEE
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3. Frequency range of audio frequency

oscillator is:
(A) 10%Hz - 10°Hz
«(B) 20x103Hz -30x10°%Hz
(C) 10Hz - 100Hz
(D) None of these
94. In a transistor -
(A) I =I+]
(B) I,=I.+I,
(C) I=I-I,
_ (D) I=I+I
95. An amplifier is a device which:
IJA/) Decrease input signal
(B) Increase input signal
*(C) Both (A) & (B)
(D) None fo these
96. The gain of an R-C coupled ampli;
fier:
(A) increases at low frequencies
/ (B) Remain constant at all frequen-
cies
(C) Decreases at high frequency

-(D) All the above

268 /R

93 e mghy A & amgf wr &
(A) 10°Hz - 10°Hz
(B) 20x10°Hz -30x10°Hz
(C) 10Hz - 100Hz
(D) T=® A B &
94. fdY giforex # &ar -
(A) 1.=I+1,
(B) I,=I_+I,
(C) I=1.-1,
D) I=I 41,
95. yadd vd gith & 3 |
(A) T5aeh Opa &1 7 uer &y #
(B) et @b &1 7t agr 2 2
kCJ (A) T2 (B) 2t
(D) 5™ & & 38

7. R-C I gaties a1 omy
(A) o7 smafer @ agan 2
(B) w1 3Ry o foverr e 2

(©) 31 3t o oy e #

(D) IwR¥es iy

http://Www.r.mlauonline.com

wod duIuoneu mmm//:dny



http://www.rmlauonline.com

%7, The dimension of h_-parameter is: 97: h el & fam @ -

(A) mho (A) mho
.(B) Ohm () Obm
(C) Farad (C) Farad
(D) None of the above (D) 3R N & 5 TA
98. The point of intersection of d.c. and 98. d.c.d a.c. @8 AZA & FH ﬁ?a b
a.c. load line represents: R @
\/A) Operating point (A) 3ifeT fag
g (B) Current point (B) URT%?A g
I <
:é: -(C) Voltage gain (C) fowa fag g
é (D) None of above (D) 3WrH N A B 8 f
;:.§T //9,9'./’The most commonly used mate- 99. giforex & & ur: I9a ¥ 7Y ST ?T
§ rial for mtaking transistor is : aren garef @ %
5 (A) cu | (A) Cu o
% (B) Ge | - (B) Ge g
(C) si o (C) si
« (D) All above (D) 3w oY ,
100.The filter ci;cuifts are used to: 100.f5&r qRay Wmﬁﬁmm 2

.(A) Minimise a.c. components

(A) a.Cc. ITH B 9 vy ¥ fp

i‘5,('{)- Minimise d.c. components (B) d.c. ®& B oy T & fre

(C) Maximise a.c. components (©) a_;:_ WS B @ > R
(D) None of these (D) 5‘"5 A 35"? :EP[ httpz/www.rmlauonline.com
, Whatsapp @ 9300930012
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